©  Professiond PROFESSIONAL EXAMINATION BOARD
@bmmmtion Police Constable Recruitment Test - 2017
ol 12th Sep 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

1) Largest Desert in India is in __/ Wﬁm@m mﬁ@lﬁ%l
1. Uttar Pradesh / S@R UG

2. Bihar / 9@

3. Rajasthan / XTSIR[TH

4. Madhya Pradesh / T&T USRI

Correct Answer :-

» Rajasthan / X[SIRITT

2) River that makes a boundary between Madhya Pradesh and Uttar Pradesh is /ku%m Qa' 3R 1;'I%'SZT H
= ue A1 399 arelt 947 &

1. Chambal / I&d
2. Gambhir / TTHR
3. Jamni / STTHAT
4. Betwa / 9ddl

Correct Answer :-

« Jamni / STTHAT

3) Which of the following railways in not part of the World Heritage Site — Mountain Railways of India? /

Frafafaa ¥ 9 o a1 Yaan! fay tRie R -URT & Uddia Yaant &7 URT 81 82
1. Nilgiri Mountain Railway / SRR Tddig YN

2. Jammu-Baramulla Line / ST SRIAT AN

3. Darjeeling Himalayan Railway / QISTCIT fGHTE! XTHTT

4. Kalka Shimla Railway / STee0T IR X@HRT

Correct Answer :-
o Jammu-Baramulla Line / SR SRTHcIT TRt
4) India's first passenger train ran in the year ./ YR BT YY" Uﬁﬂ'iﬁ, CL] o =it At
1. 1853
2)



2.1923
3. 1835

4. 1917

Correct Answer :-

» 1853

5) What is the name of the ruling family of Mysore? / ﬁ%‘g & TP URAR ST FTAH %?
1. Basavaraju family / SIITdRTy] URaR

2. Narayan family / -TRTIUT URaR

3. Wodeyar family / aIfeaR URaR

4. Lakkanna family / CTab -l gfRar

Correct Answer :-

* Wodeyar family / IIfeaR uRaR

6) Rohtang pass is in /ﬁﬁmaﬁ ﬁ%l
1. India / HRd

2. Bangladesh /m

3. Nepal / 0T

4, Pakistan / EHCESIGH

Correct Answer :-
e India / HRd

7) Government of India has appointed as the new Vice-Chairman of NITI Aayog. / HRd IRPR e

A AT 1 T SuTesl e fpar g |
1. Sanjeev Sanyal / LEICKIRI]
2. Sanjay Mitra / SEUAEE]
3. Ramanathan Ramanan / XTHATY IHUH

4. Rajiv Kumar / [Sild PHR

Correct Answer :-

» Rajiv Kumar / NG PHR

8) Where was the World Conference on Environment 2017 organized?/ 2017 | WW ﬁ'%[ '\‘I’lﬁﬂq aﬁ‘f
Saifora foar T AT 2
1. Jaipur / STIYR

2. Bhopal / T
_ 3)



3. Indore / sélz
4. Delhi / faaht

Correct Answer :-

« Delhi /et

9) In which year was the first Five Year Plan implemented? / YH Ueqdia gier &t fog ad & 'Q_'IF]\W
T UT?

1. 1951
2. 1952
3. 1955

4. 1950

Correct Answer :-
o 1951

10) In which state of India is the famous Sanchi Stupa located / HIRd & o Isd H WY A &7 WU R

1. Jharkhand / RS
2. Andhra Pradesh / 3¢/ m
3. Maharashtra / HERTY

4. Madhya Pradesh / H&J e

Correct Answer :-
» Madhya Pradesh / ¥ TG

11) The impact of the Green Revolution was felt most in the production of / frae ST U 'E»'R?f Hifd BT
TS I ¥ usT 2

1. Wheat / ﬁ'é
2. Pulses / GIcT
3. Rice/ dIdd
4, Qilseeds /f?l?ﬁ:f

Correct Answer :-

» Wheat/ ﬁEU

12) The popular sitar player who learnt music from musician Mahar in Satna is / 9t wirg RiaR are® el
Hiita &t FRr&m qa= & Fitas wev d U @

1. Pandit Raguram Misra / Uf&d NYRTH forem

4)



2. Pandit Jesraj / Ufed SRR
3. Pandit Ravishankar / Gf$d Ifd2ieR

4. Amjid Ali Khan / 3{FSIG 3fcil @M

Correct Answer :-

« Pandit Ravishankar / GfSd Ifa=i®R

13) The approximate length of river Narmada is about / THer At Bt 3T ﬁ’cﬂé STHIT %I
1. 900 Kilometers / 900 farafi#ilex
2. 3200 Kilometers / 3200 faHex

3. 1300 Kilometers / 1300 fopalitiiey
4. 515 Kilometers / 515 fh el

Correct Answer :-

« 1300 Kilometers / 1300 for@iex

14) 1f RICKSHAW is coded PKAMQJYY, then how is BICYCLE coded? / af¢ RICKSHAW &I PKAMQJYY ¥
Sifsd fHaT §ITaT 8, @) BICYCLE &) &4 Sifed fear SR ?

1. DGEWEJG
2. DKEAENG
3. ZGAWAIC

4. ZKAAANC

Correct Answer :-

¢ ZKAAANC

15) Arjuna Award is given for / Glﬁqw ¥ fore fearwrar 81

1. bravery on battlefield / ﬁ?&"{&[ﬁ aslgil
2. exceptional service in emergency / TATADTEN U T SRATYRUT IaT

3. outstanding performance in sports / QA 3h¥ L]

4. social service / THIST T

Correct Answer :-

« outstanding performance in sports / wad 3Sp¥ LA

16) Patna stands on the banks of __/UeHT A & fPIR W AT B
1. Sutlej / Tdds

2. Ganga / T

®)



3. Narmada / THaT

4, Mahanadi / q@lqél

Correct Answer :-

« Ganga /T

17) Who among these was the founder of the Arya Samaj? / $TH ¥ 3T THIS & TRITIS BT U?
1. Ramakrishna Paramahamsa / JHG W] TRHGH

2. Swami Vivekananda / WaH! fdd&g

3. Swami Dayanand Saraswati / STH! GG TR

4. Raja Ram Mohan Roy / TSI I[H EIEREC

Correct Answer :-

* Swami Dayanand Saraswati / AT TG TR

18) Who was adjudged as the best Director at the National Film Awards 20132 / JTS19 firer TREPR 2013 H,

w49y frdere & wu H feaet g mr r e
1. Hansal Mehta / §9¢ Hgdl
2. Balu Mahendra / WII%?Z
3. Anand Gandhi / 3¢ Tl

4. Rakesh Omprakash Mehra / TSR] HHUDIR] 4--\{SQI

Correct Answer :-

« Hansal Mehta / 8¢ Hgdl

19) Who won the ‘third battle of Panipat*?"/ “UT-Ud T TIERT Je' o=t SiIell AT?
1. Tbrahim Lodhi / SsTeH @l

2. Ahmad Shah Abdali / 3/§HG QT8 fearel!

3. Sher Shah Suri / ] ]8T

4. Hem Chandra Vikramaditya / %I[ g fasmaried

Correct Answer :-

« Ahmad Shah Abdali / 3/HC T 3eaTcH

20) Find the odd one out: / T& fdUH JTd PIoQ:
1. cock and hen /H‘Tf Gﬁ?@ﬁ

2. King and Minister / XISl SR HA
3. Husband and wife /Uﬁf GhTtIEﬁ

(6)



4. Dog and Bitch / &l @TW

Correct Answer :-

e King and Minister / TGl SR A

21) Find the odd one out: / Th [CLEEIG) W:
2,9, 28, 65,126, 217, 295

1,217
2.126
3.295

4.9

Correct Answer :-

. 295

22) What is the value of x in 3x6 — 2x0 - X6 = 60? / 3x6 — 2x0 - x6 = 60 H x T TIT AT &2
1.6

2.5

3.3

4.4

Correct Answer :-

23) In a column of boys, Richard is the fifteenth one from front. There were thrice as many boys behind him as
there were in front of him. How many boys are there between Richard and the seventh boy from the rear end of the

column? / TSI & TP T H, RIS M A Uxgai &1 3P 3 R a5 A 3T 9 T a8 39 N
JRTE IRSTTH ST RSN AT asd & T ot dsd 82

1.35
2. Inadequate data /@ET W'I'f%
3.34

4. 33

Correct Answer :-

¢ 35

24) The tenth Guru of the Sikhs was /ﬁl@ & 3'\‘1% = )
1. Guru Amar Das / TR 3THR g

2. Guru Angad Dev / T 3{11¢ 3?1’

(1)



3. Guru Gobind Singh /T Mfsg Rig
4. Guru Arjan Dev / [ G'Iﬁ:faa

Correct Answer :-

» Guru Gobind Singh /ﬂ??Tﬁﬁ?:ﬁl's'

25) Complete the series choosing the missing number: / T =T TAB YT BT TRT HIoTC:
1,2,4,7,11,16,

1. 20

2.24

3.18

4.22

Correct Answer :-

26) Complete the series choosing the missing number: / T &I TAG YT BT TRT HIOTC:
6,9,18,45, _

1. 85

2. 135

3. 61

4. 52

Correct Answer :-

¢« 135

27) Complete the series choosing the missing number: / & &I TAB YT BT TRT HIoTC:

22,15,8,1, ;=13

28) Select the option that is true about the Statements and Conclusions given: / 39 fd®eq &1 Ta+
PIoTE Sifd T 7T ST iR fewel & IR & 98l 8:

8)



Statements: /| HYH:
All bangles are round / 94 gfeat e gidt &

Some rings are bangles /| $9 Wiﬂ%mﬁ?ﬂ%

Conclusions: / fAwpd:

I. All round bangles are rings / 9 Tite gf$ai sffeai @
II. Some rings are round / $S &4 M &

1. only conclusion Il follows / Had sy |11 HWWT%

2. only conclusion | follows / Had sy | WW%

3. neither conclusion | nor conclusion Il follows /qé)fﬁﬁlﬂf | aﬁ?qsﬁﬁwﬂf Il &WW%
4. both conclusion | and Il follows / &Y | 3R 11 G &Wm%

Correct Answer :-

¢ only conclusion Il follows / Had fsmy |11 &@WW%

29) Select the option that is true about the Statements and Conclusions given: / 39 faopeu &1 Ta

PITT wifer 3T 7T HyAT i el & IR & €t &:

Statements: /| ®YH:
Some grains are nuts / $© A A9 %
Some nuts are pulses / P9 Ad qlcd %

Conclusions: / frewd:
I. Some pulses are nuts / $S &I Ad &
II. Some grains are pulses /| $© 3T qld %

1. both conclusion 1 and Il follows / TS | 3{IR 11 =t WW%

2. neither conclusion | nor conclusion Il follows /¥ 81 755 | 3R 71 €t e 11 &Wm%
3. only conclusion Il follows / Had (pY I WUTWT%

4. only conclusion | follows / Fad Y | WW%’

Correct Answer :-

« only conclusion [ follows / WWI WW%

30) Select the option that is true about the Statements and Conclusions given: / 39 faweu &1 79
Fifore P 3T T HY=T 3R Fewel & Ik § T8t 8:

Statements: / ®YA:
All shirts are pants / 93} % U &
No pant is black / &3 UdeT Hreil 18] &

Conclusions: / o
I. No shirts are black / H’ﬁ% HHIT PToil Tl &
II. Some pants are shirts / TS Taqd FUIA &

1. only conclusion Il follows / PHad e 11 G@TUTWT%
2. only conclusion | follows / Had e | G@WW%

3. neither conclusion | nor conclusion |l follows /?ﬁﬁ'@ﬁl aﬁ?qﬁrﬁmﬂﬁ Il aaﬂwmﬁ%
S ) o2



4. both conclusion | and Il follows / 5B | 3[R 11 g1 SRR A §

Correct Answer :-

« both conclusion | and Il follows / fI&BY | 3R 1I Eﬁ#f G@TUTH’T\’%%

31) Select the option that is true about the Statements and Conclusions given: / 33 fa®eq &7 9949
HIfoE SifPp 2T e Hy=T ok eyl & IR # A8l 8:

Statements: [/ HY:
Some pebbles are stones /| P& gﬁw LINI] %
Some stones are rocks / & UTHIUT o %

Conclusions: / fp:
1. Some rocks are not stones / o9 Trel qTIToT =re?r%
II. Some stones are pebbles / $& UTHTUT feehT &

1. only conclusion 1l follows / Fad ey || G@Wm%

2. only conclusion | follows / Had ey | WUTW%

3. neither conclusion | nor conclusion Il follows /qépfﬁwﬂf | quﬁﬁm Il &WW%
4. both conclusion | and Il follows / FI&pY | AR Eﬁ:h &WW%

Correct Answer :-

« only conclusion Il follows / dad st 1| &rﬁww%

32) Find the next expression in the series: / 81@61 ¥ 3nTat Tc.’?ﬁ I a?rﬁnz:
A, AAB, AAABBC, ?

1. AAABBBBCD
2. AAAABBCCD
3. AAAABBBCD

4. AAAABBBBC

Correct Answer :-
« AAAABBBCD

33) The series given below contains a sequence of numbers. Identify the incorrect combination: /

W2 & 7 g §, Tensi &1 U wH IuRIG &1 Tad T UgEna:
121, 143, 166, 187, 209

1. 187

2.209

3. 166

4. 121

Correct Answer :-

(10)



34) If PICTUREis coded CIPTERU, then how is MIXTURE coded? | Gfe¢ PICTURE® CIPTERU &
wifed fhar Sar 8, df MIXTURE &) &4 Sifed foar s

1. MIXTERU
2. XIMTURE
3. ERUTXIM

4. XIMTERU

Correct Answer :-

e XIMTERU

35) If PHENOL is coded OGDMNK, then how is HYDROGEN coded? | 9f¢ PHENOL & OGDMNK
wifed fhar ST 8, dY HYDROGEN &1 $ sifed fovar SRvm?

1. GZCQNFDM
2. GZCQMFDM
3. GXCQNFDM

4. GXCQNFCM

Correct Answer :-

* GXCQNFDM

36) Complete the series choosing the missing letter/s: / &l &R/ AERT B AR mfﬁ T PIfoTT:
bcc__bc__abcc__b__ca
1.b,a,a,b

2.b,3,b,c

3.3,¢,3,b

4,.49,¢a,cC

Correct Answer :-

37) In a certain code language Dark Red Colouris written kim cof demb and Red Ball Penis written
fink lima kim, then how is Red coded? / T WTH HIS YT | Dark Red Colour @1 kim cof demb fer@r
o7aT 8 3R Red Ball Pen @1 fink lima kim or@T oTaT 8, @ Red &t $1 s fam wimam?

1. lima
2. kim

3. fink
(11)



4. cof

Correct Answer :-
o kim

38) In a certain code language, hela dela kela means secret code word, dela hola jala means the
last word, and kela kola pela means her secret affair. Which is the word for he/ain that code
language? / Th @™ HIS U ff, hela dela kela &1 3¥ secret code word, dela hola jala &1 3{ ¥ the
last word, 3R kela kola pela &1 34 her secret affair BT €1 T BIS HIUT & hela ® g 59 v &1

T fpar T 82
1. affair

2. secret

3. last

4. code

Correct Answer :-

e code

39) Among the following, the leader most closely associated with the Sarvodaya movement was /

Freafafae & 9 919 9 Aar, Tdiey sica & 91y 9ed Feear 3 93 2:
1. Rajendra Prasad / JSIG UG

2. Jawaharlal Nehru / STATGRET g%

3. Acharya Narendra Dev / 3T & g

4. Jayaprakash Narayan / SIOUDB IR AIRTIU

Correct Answer :-
e Jayaprakash Narayan / SIIUD IR ARIYUT

40) The series given below contains a sequence of numbers. Identify the incorrect combination: / =t

TS gTar H, TSl BT TP HH IURIE § | TTed HaIe- Ugsni-g:
16, 19, 25, 28, 32, 37, 43

1.25

2. 43

3.37

4.32

Correct Answer :-

e 32

Topic:- Mental Ability and Mental Aptitude

(12)



1) _
In the sequence shown below, which figure comes next? / =il &3 IRT &F &, 319

3T ehiel TT 3R

1.
p H_r_.—l _‘_"‘1._
‘j“ g
3
-
el
-~ o
?‘.v" e
N b
g
|
5 L
ot
¢ -~“\
4 | SN
L f
I
.
3.

3T ehlet AT 3R

(13)



If the following two squares shown below overlap, which one of the following options

is formed? / 3¢ Aea o o=t JfAAT g &, d oot & & Fied IT Ueh [dehed aaldr §7

) | e
??g/) N

)

(

(14)



1

Correct Answer :-

4) Rs. 750 are divided among A, B and C in such a manner that A: B=5:2and B: C =7 : 13, What is C’s
share? /750 FUU DI A, BR CHF NI SHUPR TSI A e [P A:B=5:23RB:C=7: 13I8l C
e SuT A

1. Rs. 250 /250 24U
2. Rs. 200 /200 ¥YUd
3. Rs. 260 /260 ¥YU

4. Rs. 140/ 140 ®4U

Correct Answer :-

» Rs.260/260%YU

5) What percent of a day is 5 hrs? / 5 ‘Zi%, Wﬁ?ﬂﬂ'ﬁﬂﬁ' trﬁm?r%‘r

20 1 %o

3.

4.20 %

Correct Answer :-

6) If the side of a square is increased by 7 %, then, its area will increase by: /afe Udh T B Yt 7% q%

HR &1 S 1 SHS Gt § 1 g g

(15)



1.7%
2.14.49%
3.49%

4.49%

Correct Answer :-
e 14.49 %

7) If the radius of a cylinder is increased by 20 %, find the percentage increase in its volume. /afe U CREK]

st 20% T 921 &Y 91T, 9 sH% Smaad o g4 arelt gig e gt
1.45%
2.44 %
3. 40 %

4. 42 %

Correct Answer :-

. 44%

8) If the cost of 1 dozen apples is Rs. 18, then the cost of 25 apples will be: /afe QTJFETrh k) I 18 U %
¥ 25 A9 BT g =1 gim:

1. Rs. 25.00 /25 3UY
2. Rs. 36.50 / 36.50 3T
3. Rs. 37.50 / 37.50 U

4. Rs. 35.00 /35 349

Correct Answer :-

e Rs.37.50/37.50 ST

9) Tap A fills a tank in 9 hours; Tap B fills the same tank in 6 hours. If both the taps are opened simultaneously,

theywillﬁllthetankin:/WWAW%ﬁ9ﬁ%ﬁ:W%; Bﬁ%ﬁ6ﬂ%ﬁm%lmaﬁw
THATY GA gl af b fopat X F WR SQm?

1.7 hours 30 min/ 7 ‘a% 30 ﬁf
2. 3 hours 36 min / 3 ©¢ 36 fH.
3. 3 hours 45 min / 3 ©¢ 45 f&.

4. 5 hours / 5 ¥

Correct Answer :-

« 3 hours 36 min /3 °¢ 36 fH.



A father is 30 years older than his son. However, he will be only thrice as old as his son after 5 years. What is the
present age of the father? / fUTT B} 3T TA FI 31 A 30 TT AP B 1 Tafh 5 AT q1E ITD! MY ITP T
P Y B i T ERA Far 5t adar ey feat 82

1. 40 years / 40 Iy
2. 50 years / 50 G
3. 30 years / 30 1

4. 60 years / 60 GL

Correct Answer :-

e 40 years /40 Y

11) If 32/ x =x/8, then the value of x is: /q%SZ/x=x/8?ﬁx$l'1:l'Hﬁ1:f'EﬂTﬂz
1. 246

2. 16

3.256

4. 14

Correct Answer :-

12) A and B can do a work in 20 days; B and C can do the same work in 12 days; A and C can do the same
work in 15 days. If all of them work together, then how many days will it take for them to complete the work? /

A 3R B fHit ST o1 20 RA A I HRA §; B 3R ¢ A FH D1 12 R’A T I v §; A iR ¢ ST drA HY
15 f&1 O Q1 7 T 1 afe Tt ary firaes &8 & @Y &1 fhaw i 3 R 8Y s

1. 14 days / 14 T
2.10 days / 10 &
3. 12 days / 12 f&A

4. 8 days / 8 T

Correct Answer :-
e 10days/ 10T

13) A and B, working separately, can do a piece of work in 10 and 15 days respectively. If they work on
alternate days beginning with A, then in how many days will the work be completed? / A 3R B STHI-SEHT
BB BT B § SR TUH BT Bt Ha=: 10 3R 15 G o T A% &1 9fE A FRf A $ IR=30ma Bl
2 3R T~ 9Y Uo-u® 3 BisH? F1 #3d § o 98 rd freq &= o goi g

1. 13 days /13 &9
2. 12 days /12 faq
3. 18 days / 18 fad

4.9 days /9 f&T

(17)



Correct Answer :-
« 12days/ 12137

14) The Present age of Mitesh and Saumil are 30 and 40 respectively. How many years before the ages of Mitesh

and Saumil were in the ratio of 3 : 5?/ﬁﬂmaﬁ?¢ﬁﬁmaﬂa'cfm=re—ngm: 30 3R 40 ﬁ%l ﬁ'ﬂ'ﬁﬂ'ﬁfq?a'
JADT ST BT 3IUTA 3 : 5 UT?

1. 16
2. 10
3.5

4.15

Correct Answer :-

15) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

G 7S gaar ¥, ererRY 3Nk HEnal o1 e wH FAfRd €| Tad SHie ugHng:
i.exve(0201vexe

ii.exwe0201vexe

iii.exve0201vexe

iv.exve0201vexe

1. iii

16) The sides of a triangle are 5 cm, 12 cm and 13 cm. Find its area. /TI'%W ﬁ'ﬁﬁ i HGITE‘,' 5 @Tﬁ., 12 99,
3 13 Tt § < 3T &Fwa g B

1.30sq.cm/ 30 93 Ot
2.5sq.em/5 it it

3. 10 sq.cm/ 10 37 et
4.15sq.cm/ 15 i et

Correct Answer :-

» 30sq.cm/30 i o



A bullet travels at 750 m/sec. How long will it take to travel 1 km? / WQT-'\E' 750 /. Bt IHIR J Tt 81 1
foeht Y gt gg fpamit X & Ta Bl

1. 133 sec/1.33 9.
2.14sec/149.
3.1.5sec/1.59.

4.12sec/129.

Correct Answer :-
* 133sec/1339.
18) 4:18::18:?
1. 80
2.90
3.81

4. 85

Correct Answer :-

19) The average age of five girls is 11. The oldest among them is 15 years old. What is the average age of the

others? / 5 TTSTHal P 3T 3T 11 81 378 T TSI B 31 15 T4 B 1 3= BT Mg F7 3fia fapait ghfte
1.4
2. 12
3.10

4.9

Correct Answer :-

20) The average of eight number is 12. The average of six of these numbers is 14. The average of remaining two

numbers is: / 8 31 BT SNTF 12 B 1 TTH A 6 3P| FT 3 14 31 AW 1 3fh| BT N4 8:
1.4
2.6
3.7

4.5

Correct Answer :-



21) The average of 7 numbers is 5. If the average of the first six of these numbers is 4, the seventh number is / 7

3] BT fId 5 B 1 TS 70 A UYH 6 3P| BT N 4 B Y Gradl H=AT 8:
1.12
2. 11
3. 14

4. 15

Correct Answer :-

o 11

22) The average of first seven multiples of 25 is: / 25 FUYH 7 ‘IUTIﬁ BT 3NTd B
1. 100

2.75

3. 125

4. 150

Correct Answer :-

23) Insert 2 fractions between 1 and 3/11: /1 3R 3/11 F ﬁa’r = @Tﬁ:
1. 4/3 and 4/7
2.2/3 and 1/7
3.2/3 and 2/7

4, 1/3 and 2/7

Correct Answer :-
e 1/3 and 2/7

24) The cost price of a desk and a chair is Rs. 371. If the desk costs 12 % more than the chair, find the cost price

of the desk. / T SXP 3R P BT AN Tod 371 IUA 21 TS S Ft AT FAT A 12% 3P 8 1t 3
PT AN o B

1. Rs. 195 /195 30
2. Rs. 196/ 196 3TY
3.Rs. 197/ 197 304

4. Rs. 194 /194 T4

Correct Answer :-

« Rs.196/196 3T



25) Smitha, an oil merchant, buys oil at Rs. 33 per litre and sells it at Rs. 40.50 per litre. If she sells 225 litres of

oil in a month, what is her total profit? /'@:l?ﬂ, Gﬁwﬁa:‘mm'ﬁ%, 33 TR, ﬁaﬁm% 3R 40.50
TR/ H o9 At 71 9fe 98 UH gEH H 225 Wex 9d S 8, O 36 $o fohaei Ay ghm?

1. Rs. 1487.50 / 1487.50 ST
2. Rs. 1587.50 / 1587.50 ST
3. Rs. 1387.50 / 1387.50 T

4. Rs. 1687.50 / 1687.50 3T

Correct Answer :-

. Rs. 1687.50 / 1687.50 SUT

26) Find the average of first 12 multiples of 10: / 10 & UYH 12 T_[U'I'ﬁﬁ' BT 3N EﬁTIT:
1. 55
2.70
3. 60

4. 65

Correct Answer :-

27) A train of 180 m long passed a pole in 24 sec. How long will it take to pass a platform of 255 m long? / 180

7. T T 3, U @R Bl 24 V. T UR F1 81 255 HI. 1 TP Wehid P g fhal & # R Saft?
1,52 sec/52 9.
2.50 sec/ 50 9.
3.55sec /559,

4. 58 sec / 58 9.

Correct Answer :-
e 58sec/58 @[

28) If Akshaya's age is 1.5 times of what it was 10 years ago; and 0.66 times of what it will be after 10 years;

then, what is her present age? / 10 atfq:q‘, af&ma%’ranga?&rﬁﬁ 1.5 4t 3R 10 T T1¢ ITHL e-n‘ga?fqﬁaﬁ
0.66 BIT, ITPT AT Mg fara-l 82

1.24
2.26
3.27

4.25

Correct Answer :-
e 26
(21)



29) CANCELLED

Find the average. / 3N e
7,13,19, 25, 31 & 47

1.21

2.22

3.18

4.20

Correct Answer :-

30) which one of the following four addresses is NOT EXACTLY same as the one given below? /ﬁ??l' ﬁff

I AR Udl F F A B W ud & 8F A S § U A9 67

Aarianna Bird

386, Boulevard Chefchaouni, ZI Ain Sebaa,
Casablanca, Morocco

Q) Aarianna Bird

386, Boulevard Chefchaouni, ZI Ain Sebaa,
Casablanca, Morocco

(i) Aarianna Bird

386, Boulevard Chefchaouni, ZI Ain Sebaa,
Casablanca, Morocco

(i)  AariannaBird

386, Boulevard Chefchaovni, ZI Ain Sebaa,
Casablanca, Morocco

(iv)  AariannaBird

386, Boulevard Chefchaouni, ZI Ain Sebaa,
Casablanca, Morocco

1. iii
2.1v
3.
4.1

Correct Answer :-

Topic:- Science and Simple Arithmetic



1) In the given fisure, PQ || RS and XY L PQ. 2ACQ = 125°, then .BAC = . /2w av &7
1, PQ I RS3RXY L PQ. LACQ =125°, dd +BAC =

£ X
R ' S

Correct Answer :-

c

« 35

2) The cube root of 4% X 6% is: /4% x 6% ST ’CTH'H\H %‘*:

1. 13824
2.24
3.576

4.216

Correct Answer :-

« 576

3 (2 +12:2-83 - 108 ) + 2x=

1. 10x +4x% - 12x -2
2.5%3 +4x% —6x - 1
3.5x% +4x3 — 6x2 —x
4.1+ 6x —4x%2 —5%3
Correct Answer :-

o 53 +4x2—6x—1



Y xt+x2y2+ytis equivalent to: / x* + x2y2 +y! fww & GHGEH

1. (K3+xy_y3)( Xz—xy+y2)
2_(x3+x}-*+y3)(xz+xy_y2)
g -yt xy -y)

4 (L +xy+ VN2 -xy + )

Correct Answer :-
(2 +xy+y )= -xy+y°)

5)

A bag contains 3 red balls, 5 black balls and n white balls. A ball is dravwn at random from the
bag. [fthe probability that the ball is red is % then the value of n is: / T ster & 3 @1 EI
Frer e 3R n T i B dvr T v A aeTes TweT It &1 afe e e i i
grafeRar £ 8, @ n W A 8

1.3
2.6
3.4

4.5

Correct Answer :-

- 4

®) ABCD is a cyclic quadrilateral such that ZADB = 30° and £ZDCA = §0°,
then ZDAB =__ . /ABCD t& =iy =igelar ¢ o £ZADB = 30° 31k
/DCA=280° gs «DAB=__

c

1. 80

c

2. 50

c

3.70

c

4.30

Correct Answer :-

c

« 70



7) Find the area of the largest circle that can be cut from a square of side 10.5 cm? / T I a%qa

BT Qe JTd B Sl 7P 10.5 AT YOI & o | PTeT o TPl 22

1. 80 cm? / 80 ¥H2
2. 242.5 cm? / 242.5 T2
3. 72 cm? /72 2

4, 86.6 cm? / 86.6 THI2

Correct Answer :-

« 86.6 cm?/ 86.6 9HI2

8) Two cylindrical cans have bases of the same size. The diameter of each is 14 cm. One of the cans is
10 cm high and the other is 20 cm high. The ratio of their volumes is: / ﬁ doATeR fos & 99
THR & ATYR & | TP BT T 14 T ¥1 5790 A T fosar 10 F S @ SR g7 20 A Sam
21 3T% ST BT 3T &

1.3:4
2.2:3
3.1:4

4.1:2

Correct Answer :-

9) Reema types 540 words during half an hour. How many words she type in 6 minutes? / 3T e

He & GRT 540 Mgl I 18U Felt 81 91 6 e § e W5l oY ey it
.90
2. 100
3.108

4. 106

Correct Answer :-

« 108

10) The difference between the squares of two consecutive natural numbers is 31. The numbers are: /

3! AT W fae S-Sl & ol & o &7 3R 31 81 4 = &
1. 14 and 15 / 14 3R 15
2.17and 18 /17 3R 18

3.15and 16/ 15 3R 16
(25)



4,16 and 17/ 16 3R 17

Correct Answer :-

« 15and 16/ 15 3R 16

11) The smallest perfect square divisible by each one of the numbers 6, 9, 15 and 20 is: / 6, 9, 15 \?rﬁ?

20 P Tl F A 7AF F gR1 v agaw gof i &:
1.36

2. 900

3. 3600

4.225

Correct Answer :-

« 900

12) An astronaut is standing on the moon. He throws a ball upward. The ball would: / waﬁrﬁf&rmﬁmw
3T 71 98 Tig SR & 3R Bhar g1 e

1. Keep bouncing on the moon / I&HI R IS ?%‘“l

2. Go up and then come back to the surface of the moon / % UR GlIQli aﬁ?ﬁﬂaﬂﬁmﬁwmmeﬂalw Tl
3. Fall into space / 3fafkel & iR SITae |
4. Keep going up and never come down/wgfa?ﬁ SITE 3ﬁT$ﬂ-ﬂ:ﬂ€fﬂﬁ3ﬂQ‘ Tl

Correct Answer :-

e Go up and then come back to the surface of the moon /W\_TIT@'TT ﬁ?WWﬁWWW&TMI
13) Name the watery fluid in which blood cells float. / 3 mmmwﬁﬂﬁwmﬁﬁl
1. Serum / IRH

2. Blood /X&d

3. Plasma /Gﬂa@:q

4. Lymph /a@m

Correct Answer :-

¢ Plasma /Gﬂaaﬁm

14) Identify the airborn diseases from the following: /ﬁﬁ{‘[ﬁ'\ﬁ' ag S I B LEEIG) G
1. Goiter and marasmus /W@ﬁw

2. Common cold and tuberculosis / ATHTY SPhTH Td qufe® (eﬁ?ﬂ)

3. Rabies and AIDS /W@’Q@W

(26)



4, Cholera and diarrhea /%GITQHW

Correct Answer :-

» Common cold and tuberculosis /WW@W (Tal

15) The surest test of magnetism is: / WWWT&W %!
1. Hammering / Y-IdIS

2. Attraction / 3THYUT

3. Repulsion /Eﬂ%laﬂfUT

4, Diffusion /ﬁ“v'ITUT

Correct Answer :-

e Repulsion /Uﬁw

16) Which particular area of the eye contains no sensory cells? / Gﬂ@%ﬁﬂqﬁ?ﬂ'ﬂ mﬁﬁémm
e gl 82

1. Iris / TRaTRepT (TSRe)

2. Eye lens / =12 OI= (3fTS <)

3. Blind spot / 3/t (SATLS TTe)
4. Cornea / JAAYCH (SPI1-1)
Correct Answer i

« Blind spot / 3[4 (YALS Uic)

17) The network of drainage pipe to carry out waste water is called: / mﬁﬁiﬁﬁﬁlﬁe{%m%ﬁﬁ
IS & Aeds B Hgl oIl o

1. Sewer system / TR yuret
2. Drainage / SIcl-™

3. Waste water supply / 3URIY 5@ &T{ﬁ
4. Water supply system / SIcl e«rru,_j%fuvrreﬁ

Correct Answer :-

» Sewer system / H1aR yurelt

18) Which one of the following statements is NOT true for a rectangle? / T& 3Ud * ﬁ-rq frafatea
T T I AT HYF I 81 82

1. Its diagonals bisect each other. / $9% a0l T g &I fguIia = Bl

2. Its diagonals are perpendicular. / 39 faepul Trwad g1d 1

3. Its diagonals are equal and bisect each other. / m W HHH TS?R%T % Gh? Uh W A %‘Hﬁ\lﬁﬂ B %"I
o i T (27)




4. Its diagonals are equal. / $Q-Iab famul gum @a%l

Correct Answer :-

« Its diagonals are perpendicular. / ST fapul Trwad g1 |

19) The population of a town was 25000. If it had increased by 4%, 5% and 8% in the last three
years, the present population of the town is: / T XY B SIS 25000 A Tfe Uza di9 auif A a8
4%, 5% <R 8% I d4Y, Al WEX Pt TAH SIS &

1. 29484
2.29000
3. 29400

4, 28900

Correct Answer :-
e 29484
20) CANCELLED

Rahul gets Rs. 5000. He spends 15% on studies, 28% on food and 10% on clothing. His savings
will be: / ITEA BT 5000 FUY YT §UI I TSTS W 15%, UISH WR 28% 3R FUSI W 10% WY

a1 Sa@t g9a ghft

1. Rs. 2500 / 2500 3T
2. Rs. 2200 / 2200 3T
3. Rs. 2300 / 2300 S0

4. Rs. 2000 / 2000 ST

Correct Answer :-

« Rs. 2300 /2300 SUY

21) By what number should (-15 ) ~ 2 be divided so that the quotient is equal to (-5) ~3? / {9 =
BRI (-15) ~ 2 F fqvnfora &= wnfee o i uimed (-5) —3 & 99 812

-5
9
1.
—9
2.
3.
4.

(28)



Correct Answer :-

22) Reproductive functions in humans are initiated by: / Wﬁmmﬁsﬂ% QIR 3R 5 SITa

1. Hormones / M
2. Nerves / AT

3. Enzymes / UNITSH
4. Blood / TR

Correct Answer :-

¢ Hormones / E'ltﬁﬁ

23) Earthing is provided in homes to protect the homes from: / ﬂﬁﬁ'qﬂqﬁ, ‘aﬁﬂﬁmﬁﬁ%m
e fhar ST 8:

1. Electric shocks /W%W
2. Earthquakes / YU

3. Cyclonic storms / I dld W1
4, Lightning /ﬁ\_rl?ﬁ

Correct Answer :-

 Electric shocks /W%W

24) The water conducting tissue generally present in gymnosperm is: / ﬁﬁwﬁﬁmw@m
T ATAP HdP ¢

1. Xylem fiber / SITS@H dg
2. Sieve tube / T AAferpT

3. Vessel /EIT%H'TI"Q
4. Tracheid /| IS

Correct Answer :-

 Tracheid / aﬁ—s’

25) The percentage of solar radiation absorbed by all the green plants for the process of

photosynthesis is about i WW@W@W%WW@U}@WW@?
fafes~or o1 ufor=ra ey gl

1. 1%

2.5%
(29)



3. 10%

4. 8%

Correct Answer :-
e 1%

26) Which of the following is a male hormone? / ﬁmﬁ@rﬁquwaﬁﬁ%v
1. Insulin /E:lﬁi%ﬂ

2. Thyroxin / YRRITGT

3. Estrogen /Q@GFT

4. Testosterone / TERRHA

Correct Answer :-

o Testosterone / TR

27) Which one of these is the most appropriate consequence of deforestation? / ﬁ?ﬁ@aﬁqu

TS T Taiie Iuged ufkomd g2

1. Destruction of habitat onlylw G{WW]%W
2. Global warming only /W @W@W
3. All of the above /T‘N@lﬂ:ﬂﬂ“ﬁ

4. Soil erosion only / s dcl Hal (UG

Correct Answer :-

= All of the above / GCIQ-laFj a g

28) Angiosperms possess: [ E’Wﬁﬁg?ﬁ%%
1. Seeds /—@ﬂﬁf

2. Flowers / B¢l

3. True vessels /WWHT%W

4, Tracheids /aﬁg

Correct Answer :-

¢ True vessels /Waﬂ%wq

29) The most common chemical used for water disinfection is: / Wm%ﬁﬂmm SH
T B:

1. Oxygen / SRS
2. Chlorine / FAR
3. Nitrogen / :I'ls_@“ﬂ

(30)



4. Carbon dioxide / BT SFATHIES

Correct Answer :-

« Chlorine / FARM

30) The major cause of environmental pollution is the use of: / TataRvig WWWWWW

1. Fossil fuels /Gﬂam[qs‘aq
2. Tidal energy/ﬂﬁ]ﬁﬂ@ﬁli

3. Wind energy / Ud- Sl
4. Solar energy / ?ﬁ? Sl

Correct Answer :-

¢ Fossil fuels /W‘&cﬂ:{

(31)



